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Time:3 Hours

lnstruction : Answers to be written in English only.

SECTION - A

lV Semester B. C. L.S. Exami natio n, Septem ber/O ctober 2O22
(cBcs)

COMMERCE
Paper - 4.4 : Cost Accounting

71422

lr4ax. Marks : 70

is 4200 units and

Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5x2=10)

1. a)
b)
c)
d)
e)

What is costing ?
What is Economic Order Quantity ?
What is stores ledger ?
Expand FIFO and LIFO.
Find out average stock level if minimum stock level
maximum stock level is 6000 units.
What is Time Keeping ?
What is Memorandum Reconciliation Statement ?
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SECTION _ B

Answer any three of the following. Each question carries 6 marks. (3x6=ig)

2. Give a brief note on objectives of material control.

3. Supreme factory.produces a standard product. The followino information is oivenro you rrom which you are required to prepare a cost sheeifor January 2oi2:

Raw materials consumed 91,Xo"d
Direct wages 29,OOO
Other direct expenses 11,000
i?9tory overheads gOo/o ot direci wage
Office overheads 10% of works cosi'
Selling and distribution expenses Rs. 2 per unit soldUnits produced and sotd,jrring th" ;ffi'l;,'Ob;
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lssued 600 units
lssued 400 units
Received lrom supplier 800 units @ Rs. 19 per unit
lssued 260 units
Received from supplier 960 units @ Rs.22 per unit
Fleturned to supplier 80 units out of purchases of July 20
Purchased 400 units Rs. 24 per unit

26 lssued 720 units
Prepare the stores ledger account under FIFO method.

5. The Meghdhooth Company Ltd. has three production departments P, Q and R
and two service departments X and Y. The following figures are extracted from
the records ol the company : 

Hs.
Renl, rates and taxes indirect wages 20,000
lndirect wages 6,000
Depreciation on machinery 20,000
General lighting 2,400
Power 6,000
Sundries 20,000

2

4. The following is an extract of the record of receipts and issue ol a material
during July 2022. On 1st July 2022 - Opening balance was 1,200 units at
Rs. 20 per unit.

July 3
4

10
16
20
24
25

The lurther information available are as follows :

ParticularsTotal PQR
Floor spaces (sp. ft). 10,000 2,000 2,500 3'000

Light points 60 10 1 5 20

Direct wages (Rs.) 10,000 3,000 2,000 3,000

H.P. of michine 150 60 30 50

Working hours - 6226 4028 4066

Value oimachine (Rs.) 5'OO,O0O 1,20,000 1'60,000 2'00'000

x
2,000

10
1,500

10

Y
500

5
500

Expenses ol X and Y are

allocated as follows :

407"
30"/o 10%

10,000 10,000

10"/"20%
40"k

Prepare Primary Distribution Summary'

6. calculate wages due to a worker under Halsey plan and Rowan plan'

tollowing informarton :

St"nO"fu nortt = 18,000 hrs'

iime iaxen = 12,000 hrs'

Normal rate = Rs' 1'5 Per hour

from the

x
Y

30"/"
2Oo/"
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"",SECTION - C

Answer any three ol the following. Each question carries 14 marks. (3x14=42)

7. Explain the factors considered for designing a Cost Accounting System.

8. The following were extracted from the cost records for the year 2021 :

Production 1000 units

Baw materials Rs. 20,000

Labourcost Rs. 12,000

Factory overhead Rs. 8,000

Office overhead Rs. 4,000

Selling expenses Rs. 1,000

Bate of prolil2S/" of selling price.

The manufacturer decided to produce 1,500 units tor 2O22.lt is estimated that
the cost of raw materials will increase by 2Oo/o and the labour cost will increase
by 1Oo/".50% of the overhead charges are fixed and the other 50% are variable.
The selling expenses per unit will be reduced by 2Oh. The rate of profit will
remain the same. Prepare a statement of cost showing total profit and selling
price per unit.

9. The net profits of a manufacturing company appeared at Rs. 1,76,500 as per
linancial records for the year ended 31-12-2O20. The cost books however
showed a diflerent profit. A careful scrutiny of the figures from both the sets of
accounts revealed the following lacts. Prepare Reconciliation Statement.

1) lncome tax provided in financial accounts 1 5,000

2) Bank interest credited in financial books 1,250

3) Works overhead under recovered in cost books 11,550

4) Depreciation charged in financial books 15,600

5) Depreciation recovered in cost books 16,000

6) Administrative overhead over recovered 'l ,850

7) Donations shown in financial books 12,800

8) lnterest on investment not included in cost books 14,000

9) Stores adjustment (Credited in linancial books) 1,240

1 0) Loss due to theft shown in linancial books 13,350
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Power
Rent
Canteen
Personnel department
Maintenance ol buildings
lnsurance on assets
Depreciation 1O/" ol capital value
You also have the following data :

Production
Departments

Service
Departments

M N o x Y

Area (sq. metres) 400 400 100

KW. hours 2000 2200 800 750 250

No. of workers 90 120 30 40 20

Capital value in Rs. 50,000 60,000 40,000 30,000 20,000

The services of X and Y departments are used by other departments in the
following proportion.

M N o x Y

x 25o/" 3Oo/" 25% 2O/"
Y 40% 20% 30% 10%

Calculate the total overheads ol production departments after re-apportioning
service department overheads under Simultaneous Equation Method.

1 1. From the following figures relating to two components A and B, compute Reorder
Level, Minimum Level, Maximum Level and Average Stock Level.

Particulars Component
A

Component
B

Maximum consumption per week 150 units

Average consumption per week 1 00 units .100 unils

Minimum consumption per week 50 units 50 units

Reorder period 8 to 12 weeks 4 to 8 weeks

Reorder quantity 800 units 'l ,200 units

-4-

10. The Universal Ltd. has three production departments and two service
departments. The following information is available regarding various expenses :

Rs.
12,400
14,200
13,000
13,000
13,400
12,200

150 units

300 200


